
Class:Class 6 Subject: Maths Topic:Algebra

S.No Question Answer Options
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3

A grasshopper can jump upto 91.4 
cm in a single jump . If the 
grasshopper jumped 731.2 cm 
altogether ,how many jumps did it 
make it?

17

8

9

12

17

8

9

12

4
Write whether the following are like 
or unlike terms : 8a2 + 9y 
:____________

Answer
____________

Answer
____________

5
Adding the following : 6x2 + 12xy + 
14y2, 7x2 - 12xy - 7y2, 18xy - 5x2 - 
3y2 is 8x2 + 18xy

True

False

True

False
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Correct Answer is
1. Correct Ans option is 14
2. Correct Ans option is 16
3. Correct Ans option is 8
4. Correct Answer is Unlike
5. Correct Ans option is False
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